
DESCRIPTIONID PART QTY REF.

10 min1 person

Innnteeermmmediate

DDDiffifificcuuullt

Nº 3
Nº 6

ALLEN TORX

Nº T40
Nº T45

BMW R NINE T SCRAMBLERBMW R NINE T SCRAMBLER

Ref.: 9338

Ref.: 9339
( Black fairing )

( Carbon look fairing )

Pg. 1/3

Stikers set

M8x35 DIN 912 Allen screw

Ø inner 8,5 x Ø outer 14x9 Arrowhead

M5 ISO 7380 Allen screw cap

M5x16 ISO 7380 Allen screw

Silentblock M5

M5x0,5 Nylon washer

Left metal support (L )

Right metal support (R )

Screen

ABS fairing

1

2 TORNI-AD912-196

2 CASQUI_____0100

7 TAPON________85

7 TORNI-I7380-493

7 SILENBTM5-046/1

7 ARNV00000000245

1 SOPOR-2P-1-9338

1 SOPOR-2P-1-9338

1 1517 F/H/N/W

1
10562 NM3

10562 CM3

ADHESI______207
ADHESI______208

11

8

9

10

5

6

7

4

3

1

2

 -  RETROVISION WINDSCREEN FOR  -

 Easy

https://www.motorcycleid.com/puig/


3

1 2

4

Pg. 2/3

88

43

9 9

ASSEMBLY

ASSEMBLYASSEMBLY

DISASSEMBLY

14lbf ft  -  See according to manufacturer8

6 6

6 6

2

7

7 7

75

5 5

510

10 10

10

2 fixing points



BMW R NINE T SCRAMBLERBMW R NINE T SCRAMBLER

5

7

6

8

STICKERS SET

STICKERS SET

Pg. 3/3

11

11 1

6 6

6 11

11

11

ASSEMBLY

ASSEMBLY

10 105 57 7

10

5

7

 - MOUNTING INSTRUCTIONS - 

-  RETROVISION WINDSCREEN FOR  -

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html

